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Algebra Concepts

Solving Inequalitites WS
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Solve each inequality and graph its solution.

1)  
n
7

 £ -9

-68 -66 -64 -62 -60

2)  -14n > -224

13 14 15 16 17 18 19 20 21 22 23

3)  -60 ³ -20n

1 2 3 4 5 6 7 8 9 10 11

4)  15x < 150

7 8 9 10 11 12 13 14 15 16 17

5)  
n

11
 £ 3

28 29 30 31 32 33 34 35 36 37 38

6)  266 £ -14x

-20 -18 -16 -14 -12

7)  8 ³ 
x
7

 + 10

-16 -14 -12 -10 -8 -6

8)  7 + 5m £ 62

5 6 7 8 9 10 11 12 13 14 15



©S C2j0C2z0F QKfu_tLap mSXodfnthwNazrveL gLcLQC[.j w oAulClm crBiYgahyt`sS XrkezsQeorRvoeAdE.` c \MzamdseV rweistKhk aIsnrfaiVnniYtEet ZA^lMgwetbIr_aY _1d.

Worksheet by Kuta Software LLC

-2-

9)  -2a + 2 ³ -36

17 18 19 20 21 22 23 24 25 26 27

10)  1 - 10x > -109

6 7 8 9 10 11 12 13 14 15 16

11)  3n - 5 + 5 £ 6

-1 0 1 2 3 4 5 6 7 8 9

12)  -4 ³ 5m - m

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

13)  -4n + 7n < -15

-12 -10 -8 -6 -4 -2

14)  4 ³ 3x - 4x

-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1

15)  6(1 - 8v) < -282

-1 0 1 2 3 4 5 6 7 8 9

16)  3r + 3(3r + 2) £ 90

1 2 3 4 5 6 7 8 9 10 11

17)  -3(6m + 3) - 4m ³ 167

-12 -10 -8 -6 -4

18)  -228 £ -4(1 - 7x)

-14 -12 -10 -8 -6


